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Instructions to Candidates / Glgarial 2210

Do not open the Question
Booklet until ask to do so.

(1)  There are 50 questions in the Test Booklet. | O wa-yRasil ga 50 yaell 8. Wcdls Ul
The answer of each question is any one )l GuR A, B, C 2 D U4 & s 8.
out of A, B, C and D. Four alternatives sl wd o Ay Risedl sunaiml sl
are given with the question. You have to & i waL % Walell GuR Wl 8.
answer all the questions. @ uds ua A GaR W2 1(As) Q2 8.

(2)  Each correct answer carries (1)one mark. 35 2l 4y Rised 315 53R ¥ RN
For each wrong multiple answer for each arpiail 20adl. vi2l oaiel 12 S YRl s
question will be treated as wrong. No 3 -l
negative marking for wrong answer. E;m el N d

(3)  You have to answer on the OMR Sheet is @) R WAL M2 A Buradl (OMR
given separately to you. For example : SHE‘?&% wedl 8.

Which State of India has the longest Sea Gur (- Getsm WAL BUMAlAL 8.
Coast ? ol 54 uord Al aied eRa-BAd
(A) Maharashtra (B) Tamil Nadu qAL B 7

(C) Gujarat (D) Andra Pradesh (A) MR (B) dilieaniyd

In OMR Answer Sheet : (C) AAUd (D) wiuuea

® Q @ Guraél (OMR SHEET)L

The true answer is "C"'. Hence circle of ® . @

"C" is blackened (encode). GuAsd nad wa Gz "C" . 2udl rCy

(4)  Don't write anything on the Test Booklet. ad® 519 (encode) 53¢ B.

(5)  Use blue/black inked ballpoint pen for @) @ uayRsed sg o avial el
filling responses in the OMR Answer | 5, goaaglai Gudl aiedl [ siofl aiel-l
Sheet. Any other ink, pen or Pencil is | el S-2 Aeiell Wit & . iy wedl, A
strictly prohibited. 3 Aasd Guatal 53 asid 4l

(6) During exam from candidate, if any false , e sesiiet Giear Wl A1 ya Al

matter, guide, cheats, slips, any handwritten (6) g S0 S5 A K_ﬂgl{m S5t
material, any printed material, mobile phone, los, i éﬁ 3él, siudl, v, -y
pager, calculator or any electronic Es%d&tﬁ»{d Bir2s ey, ouda {’1'13
equipments are found he/she will be AR, 3esdan k R dng (3"»33-'9_& @ME‘:L
disqualified. U dl GReAUR AEAIS ARAUHI AL,
(7) Gossips, making noise or disobeying (M wg udan eRud Aedied AAYA sRdl,
instructions given by Invigilator will be e dl 3 Mfasd yaruisd Gedun
considered disobedience. 52q A A0 Rua.

(8) Do Rough Work on last page. (8)  wssiM Bedl % W R,

___—_____—.———_—_—_—_——_——._—_—_.—_—

Guzadl (OMR Answer sheet) 4 naxi 8. udlaw ydl auLeus Guradl (OMR Answer Sheet)-l uus
BllaL ud (Scaning Copy) asl BidlaisA ura sal oue % qofuis sl 3. Ax 5L 53R 1l Rizdeloi

ol ol wfla =2 % A GRearRd Areus 3wl 9. ol Glear dd (Candidate Copy) GieuR i
ad oS wsdl. wuyst 21 ol ud GRediR Wdidl 2R 4 oS wsd.
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In order to analyze paleo-environment/s of a sedimentary basin in geological
rock record, we mainly depend on:

(A) Paleo-current analyses

(B) Facies association analyses
(C) Facies analysis

(D) Lithological description

When is the World Oceans Day celebrated?
(A) 5th June (B) 6% June
(C) 7t June (D) 8t June

Mid-Ocean ridges, rift valleys, and trenches are thought to:
(A) reverse roles in the southern hemisphere

(B) have no relationship to plate tectonics

(C) mark the boundaries between tectonic plates

(D) occurs in the middle of tectonic plates

The transformation from parent rock to soil is generally accompanied by:
(A) Decrease in Ca, Mg, Na and K and increase in Si

(B) Increase in Ca, Mg, Na and K and decrease in Si

(C) Much loss of Al and Fe

(D) No change in parent composition

When the axis plungs directly down the dip of the axial plane; the fold is
known as:

(A) Plunging fold (B) Periclinal fold
(C) Reclined fold (D) Flexure fold

Chlorinate and salinity of sea water is expressed in:
(A) Grams per ton

(B) Kilogram per ton

(C) Grams per kilograms

(D) Milligrams per gram

Which are critical to the geochemical reactions of the biosphere?
(A) Mega organisms (B) A microorganisms
(C) Animals (D) Men
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Hydrothermal deposits, which are formed at great depths. near the intrusive

and within the temperature range of 300°C to 500°C is called:
(A) Hypothermal deposits

(B) Mesothermal deposits

(C) Epithermal deposits

(D) Syngenetic deposits

Cyanobacteria created this gas during the Precambrian Era.
(A) Carbon Dioxide (B) Hydrogen
(C) Nitrogen (D) Oxygen

What type of rock do fossils form in ?
(A) Igneous (B) Sedimentary
(C) Metamorphic (D) Classic

As per the latest radiometric dating, what is the age of earth?
(A) 4 billion years

(B) 4.54 billion years

(C) 4.45 billion years

(D) 4.64 billion years

Which Era is the Quaternary Period a part of?
(A) Precambrian time (B) Paleozoic Era
(C) Cenozoic Era (D) Mesozoic Era

Small pieces of rock moved from one part to other by wind and water,

glacier is called as
(A) Erosion (B) Rock flow
(C) Weathering (D) Cementation

Remote sensing techniques make use of the properties of

reflected or diffracted by the sensed objects:
(A) Electric Waves

(B) Sound Waves

(C) Electromagnetic Waves

(D) Wind waves

BPK-21021_B ] 3



15

16

17

18

19

20

The best grade chromite in India occurs in which state?
(A) Karnataka (B) Rajasthan
(C) Orissa (D) Kerala

Which is the most common ore of lead?
(A) Sphalerite (B) Galena
(C) Chromite (D) Bauxite

The amount of oxygen in stream water is called:
(A) Macrophyte

(B) Dissolved oxygen

(C) Fecal coliform

(D) biochemical oxygen demand

Glaciers that are found only in Antarctica and Greenland and spread over
large areas of land are called

(A) Valley glaciers
(B) alpine glaciers
(C) continental glaciers

(D) ice bergs

The physical property of mineral by which minerals are identified on account
of its colour of the powder form is called as :

(A) Colour (B) Luster
(C) Streak (D) None of these

In which of the following the direction of Ocean currents are reversed with
season?

(A) In the Pacific Ocean
(B) In the Atlantic Ocean
(C) In the Arctic Ocean

(D) On the Indian Ocean
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The direction along which a mineral tends to break is called:

(A) Fracture (B) Fault
(C) Form (D) Cleavage
The mineral with a hardness of 9 in Mohs scale is:
(A) Diamond (B) Olivine
(C) Corundum (D) Topaz
Which mineral has bladed like structure?

(A) Slate (B) Kyanite
(C) Calcite (D) Gypsum
Ophitic texture is commonly shown by:

(A) Trachyte (B) Lamprophyres
(C) Andesite (D) Dolerite

Formation of core-and-mantle microstructure in quartz within a sheared rock

characterizes
(A) Recrystallization (B) Superplastic flow
(C) Grain Boundary Area Reduction (D) Recovery

An alkaline rock consisting of Augite-Plagioclase-Nepheline is known as:

(A) Theralite (B) Teschenite
(C) Essexite (D) Dolite
A common decomposition in basaltic rocks involves
(A) Oxidation of Mg (B) Hydration of Fe
(C) Oxidation of Fe (D) Hydration of K
Match the following:
I 11

l. A coarse-grained, light i Rhyolite

coloured rock
2. A coarse-grained, dark- ii Gabbro

coloured rock
3. A fine-grained, light- iii.  Granite

coloured rock
4. A fine-grained, dark- iv.  Basalt

coloured rock
(A) 14iv, 2-ii, 3-iii, 4-i (B) 1-ii, 2-i, 3-iv, 4-iii
(©)  1-iii, 2-ii, 3-i, 4-iv (D) 1-iii, 2-ii, 3-iv, 4-i

The grain-size variation is more or less continuous from smallest to largest;
the texture is called:

(A) Seriate (B) Poikilitic

(C) Porphyritic (D) Miarolitic

Term used to describe surfaces across which there has been perceptible
displacement are many. However, most geologists would prefer one of the
following terms:

(A) Joints (B) Fractures

(C) Cracks (D) Faults
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Which of the following is not a stress term ?

(A) Megapascal (B) Kilobars

(C) Pascal (D) Kilometers

What is the source of energy for the Earth's internal heat engine?

(A) Solar Energy (B) Ocean tides

(C) Volcanoes (D) Radioactivity )

What is the status of magma or lava ?
(A) Always liquid

(B) Solids

(C) Gaseous

(D) Mixture of liquid, crystals, and gases

In a cross section of a fold, the region of maximum curvature is the
(A) Overturned limb (B) Crest
(C) Hinge line (D) Inflection point

Which geophysical exploration method widely used for exploration of gas
and oil?
(A) Seismic refraction method (B) Magnetic method

(C) Gravity method (D) Seismic reflection method

S waves can pass through

(A) Solids only (B) Gases only

(C) Liquids only (D) Solids and liquids both

The amount of ground displacement in an earthquake is called the

(A) focus (B) dip

(C) slip (D) fault

What evidence do scientists use to support the continental drift theory?
(A) rocks, fossils, air (B) rocks, fossils, climate

(C) rocks, water, ice (D) rocks, fossils, human beings

The theory of plate tectonics combine which two other theories?
(A) sea floor spreading and continental drift

(B) sea floor spreading and tidal theory

(C) continental drift and fossil theory

(D) continental drift and Big Bang theory

Which plate boundary is marked by deep-sea trenches, volcanic mountain
chains and severe earthquakes?

(A) Convergent (B) hot spots

(C) transform (D) divergent
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